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BB - el (31) - KIS ALY Ol &t o San HmEET
307 glz2tol & 40,000 31,500 8,500
02 PIZHEHAHEE 40,000 31,500 8,500
OsY 82 A= =1 40,000
YEsIH Y 250,000 275,900 A 25,900
308 XXIEHSOIA 150,000 255,000 A 105,000
01 IXNHHBNEES 150,000 255,000 A 105,000
OLEsI LA 60,000
OLE oY SFatD 45,000
OLE=sI ZHH 45,000
403 Mt S E X201 E 100,000 0 100,000
01 X SHHAN2E = 100,000 0 100,000
OAnl =it | 100,000
E=RageeE= gaPNEa] 323,000 221,500 101,500
308 MXIEHSOIH 230,000 151,500 78,500
01 HXNHHNBHELS 230,000 151,500 78,500
O A=t =S 1ol 200,000
OdtetH . sH oY 30,000
403 XIS E X201 & 93,000 70,000 23,000
01 AXSHMA2E = 93,000 70,000 23,000
OJt2=sJt H2 U (Truck Scale) XI& 93,000
[EHIE=SE A& 635,000 420,000 215,000
308 AHAIEHHSOIA 360,000 280,000 80,000
01 HIXNHHNBMNEELS 360,000 280,000 80,000
OxEssIts8XNd 280,000
O2sReSMde 24.29 XI& 80,000
403 A X EHHS 20l A 275,000 140,000 135,000
01 X EHHMA=E L 275,000 140,000 135,000
OMNSSsIISENS 64,000
OgattASL X 30,000
OysLty 3dHA 163,000
O=2=& s Mg 18,000
t=elZ =T AR 3 X & 45,000 50,000 A5,000
307 glz2+ol & 45,000 50,000 A5,000
02 YAFHAANFEE 45,000 50,000 A5,000
OXsguns 2 JIANM S NI (02 10
%) 45,000
St SOHAE 496,149 447,000 49,149
J| 359,160
< 136,989




2N

g 2 A
CHelt BADIUE A CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
308 X EHSOIA 496,149 447,000 49,149
J| 359,160
< 136,989
01 HIXNHHBHNEELES 496,149 447,000 49,149
Ostd &0t g43tAtY 496,149
J| 359,160
< 136,989
sAE S0t 229 XA 130,000 104,000 26,000
J| 100,000
< 30,000
308 XXM SO A 130,000 104,000 26,000
J| 100,000
< 30,000
01 IXNSHHBANEES 130,000 104,000 26,000
ORrad s0ty X 130,000
J| 100,000
< 30,000
S AAIE S SRR EA) 1,391,000 5,000,000 A 3,609,000
J| 1,391,000
403 XtXI A S A2 0IH 1,391,000 5,000,000 3,609,000
J| 1,391,000
01 X EHHMA=LE L 1,391,000 5,000,000 A 3,609,000
O=AtAI &S THEHALY 1,391,000
J| 1,391,000
sE2E SOtEdst 13,000 0 13,000
J| 10,000
= 3,000
308 X EHSOIA 13,000 0 13,000
J| 10,000
S 3,000
01 HIXNHHNBMNEES 13,000 0 13,000
Oszaz shtadst 13,000
J| 10,000
= 3,000
SLF S A 13,702,073 12,847,143 854,930
J| 8,789,737
< 4,912,336
SNE BHE =4 90,000 90,000 0
307 glz2+ol & 90,000 90,000 0
04 QIZFHALAIH B = 90,000 90,000 0
Osd=sEdEN & FAU3 Ot 70,000
OFNS AU S A 20,000
Ots=EXANE 2% X& 47,010 47,010 0
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5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

308 X EHSOIA 47,010 47,010 0

01 HIXNHHBHNEELES 47,010 47,010 0
OOts=EXANERFXE 47,010

FERR MMUXA 1,509,800 1,366,000 143,800

308 XXIEHSOIA 581,000 484,000 97,000

01 IXNHHBNEES 581,000 484,000 97,000
ONEFE F&sS Y 300,000
OfIMIAS Ao 120,000
OI10TI18 A At2t2/AIAE XIS 50,000
O4Yd=s HXIALY 21,000
ORA Moty SaXH 90,000

403 MHXISHHE X201 E 928,800 882,000 46,800

01 X SHHX2E = 928,800 882,000 46,800
OHsAle st 358,800
OS2 s4ad =4 510,000
Ofmd2T] XA 60,000

SYHEIAE OB XN 570,000 478,500 91,500

308 XXIEHH SOl A 21,000 21,000 0

01 X HHILEES 21,000 21,000 0
OUWZEXF =AMz a0 & 21,000

403 X SHHSA=0l& 549,000 457,500 91,500

01 HXHMA=E X 549,000 457,500 91,500
OXZMSMAFHl X 345,000
OLZE AZAAE X 90,000
OTMR At= BHE DI XI& 24,000
OAtZ el =< K& 75,000
OJdg 2E Al X 2D XA 15,000

NEMHEE (SHATXH) 450,000 320,000 130,000

308 XX EHHSOIA 450,000 320,000 130,000

01 HIXNHHBNEES 450,000 320,000 130,000
OJI =Mt 2ol XA 450,000

stunesasa X 2,533,302 2,533,302 0
J| 2,111,085
< 422,217

308 XXM SOl A 2,533,302 2,533,302 0
J| 2,111,085
< 422,217

01 AXHHIYEES 2,533,302 2,533,302 0
Ogtuesrasal XA 2,533,302
J| 2,111,085




= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

| < 422,217

IMNSHAZ SIFY X 2,516,866 2,516,866 0
J| 1,987,000
< 529,866

308 AHXIEHHSOIA 2,516,866 2,516,866 0
J| 1,987,000
< 529,866

01 HXNHHNBHNEELS 2,516,866 2,516,866 0
OANSHRE(E.ZIHSAU X 2,516,866
J| 1,987,000
< 529,866

IMSHAS AML2IXHE K& 4,159,922 3,480,000 679,922
J| 3,466,602
< 693,320

308 XXM SO0 A 4,159,922 3,480,000 679,922
J| 3,466,602
< 693,320

01 IXNSHHBNEES 4,159,922 3,480,000 679,922
O&HEcl & AZelXl M X3 4,159,922
Jl| 3,466,602
< 693,320

HEeOXZHE ANLAXME X 781,200 446,400 334,800
J| 630,000
< 151,200

308 MXIEHSOIH 781,200 446,400 334,800
J| 630,000
< 151,200

01 HXNHHBHELS 781,200 446,400 334,800
OB =48 A2 XM= K& 781,200
J| 630,000
< 151,200

HdEEHANZLEE S22 N&E 122,010 94,080 27,930
J| 99,600
< 22,410

308 XX EHSOIA 122,010 94,080 27,930
J| 99,600
< 22,410

01 HIXNHHBMNEES 122,010 94,080 27,930
OFEHI =8 7Y XN 122,010
J| 99,600
= 22,410

HEHXNXTHE 5ol X2 139,200 139,200 0
J| 96,000
< 43,200

308 XXM SOIA 139,200 139,200 0
J| 96,000
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SA - BB B () - MM - BES Ol &t o San HmEET
< 43,200
01 IXNHHBNEES 139,200 139,200 0
OFEZHX X448 EHd X& 139,200
J| 96,000
< 43,200
IMNSHAZ JIAZHTY X 750,000 600,000 150,000
J| 375,000
= 375,000
403 XIS E X201 E 750,000 600,000 150,000
J| 375,000
< 375,000
01 X SHHA2E= 750,000 600,000 150,000
OXAE o BAMEH XA 750,000
J| 375,000
< 375,000
TAE SE2cel X 32,763 50,585 A17,822
J| 24,450
< 8,313
403 UHXSHHSA=0l& 32,763 50,585 A17,822
Jl| 24,450
< 8,313
01 HXSHMA=E X 32,763 50,585 A17,822
OXAE S22l AtY 32,763
J| 24,450
< 8,313
SitSeMael 13,205,043 12,454,093 750,950
= 32,000
J| 6,517,341
< 6,655,702
HALSX2lHl EXI& 40,000 32,000 8,000
308 XXM SO0 A 40,000 32,000 8,000
01 IXNHHBNEES 40,000 32,000 8,000
OHAMS= XMclHlE X& 40,000
SHHERSEHS & 695,000 315,500 379,500
403 XIS E X201 & 695,000 315,500 379,500
01 XKL= 695,000 315,500 379,500
o422 F8(0t3) XA 180,000
OFAMSEHINS A ML X 120,000
Odl71 HACCP= I & AEEHl XA 330,000
Od= 25FHl X& 25,000
OFrdE&d XA 30,000
O=ttERsS st X 10,000
EEdZLe A 500,000 500,000 0
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ool BaE M (&
SA - BB B () - MM - BES Ol &t o San HmEET
403 UHXSHHSA=0l& 500,000 500,000 0
01 X SHMA2E X 500,000 500,000 0
OE=d&2ds X 500,000
II=E=Z3FSAEXA 2,640,000 1,920,000 720,000
308 XXIEHSOIA 1,265,000 853,000 412,000
01 IXNHHBNEES 1,265,000 853,000 412,000
OF4&ed e AR 500,000
OJM}=EE2x =AHHEXNA 345,000
OMNEEr AFHMZ NI AY 420,000
403 Mt S E X201 E 1,375,000 1,067,000 308,000
01 X SHHAN2E = 1,375,000 1,067,000 308,000
UFMZALE XA 756,000
ElHISAFAIAE X & 444,000
OJIN=EEL Mel&ddl X& 145,000
OMN=EEx AdHMZT AEXR 30,000
LHZAZ Al SAH JHEAY 457,500 1,017,500 A 560,000
201 LBt2E| 9,000 9,000 0
01 At 2t 2l 9,000 9,000
OAtR2teldl (ol &t = 2E 10%) 9,000
202 odl 4,500 4,500 0
01 = LH o4 1l 4,500 4,500 0
OZWoHI(ollatE 2 10%) 4,500
308 AHXIEHHSOIA 444,000 324,000 120,000
01 HXNHHNBMNEELS 444,000 324,000 120,000
OWZEAMEZ Al SLHetH M BHA A/EXR 34,000
OWEAEA S&tsIF S3IA A A 410,000
SEZ AR 2lA8l XA 1,381,000 1,414,900 A33,900
J| 828,600
< 552,400
307 21201 A 1,381,000 1,414,900 233,900
J| 828,600
< 552,400
02 It S AIHE L 1,381,000 1,414,900 /33,900
O AN 1,381,000
J| 828,600
< 552,400
ELSHACCPHE E (A2 Z &/ s F) 156,800 156,800 0
J| 128,000
< 28,800
308 XX EHSOIA 156,800 156,800 0
J| 128,000
.
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== 28,800

01 IXNHHBNEES 156,800 156,800 0
OsZ &R A HACCP Z2&E XI& 156,800
J| 128,000
< 28,800

= M SHACCPRI £ Sl (A 2B & /0L B) 39,200 39,200 0
= 32,000
= 7,200

308 XX EHHSOIA 39,200 39,200 0
= 32,000
< 7,200

01 X HHILEXS 39,200 39,200 0
OJtE=S A HACCP Z&E XI& 39,200
= 32,000
< 7,200

=2 Ay a2y X 2,090,400 1,560,000 530,400
J| 1,608,000
< 482,400

308 AHXIEHHSOIA 2,090,400 1,560,000 530,400
Jl| 1,608,000
< 482,400

01 HIXNHHNBMNELS 2,090,400 1,560,000 530,400
Oy & ZH| X & 2,090,400
J| 1,608,000
< 482,400

=% Eddis XA 650,000 1,820,000 A 1,170,000
J| 500,000
< 150,000

403 MtXISHH S0l & 650,000 1,820,000 A 1,170,000
J| 500,000
< 150,000

01 XM A=2EE 650,000 1,820,000 A 1,170,000
ON=E=2r El%dlst X 650,000
J| 500,000
< 150,000

ZENAS Sy ALFY X 1,715,000 1,715,000 0
J| 1,400,000
< 315,000

403 A XM S =0l A 1,715,000 1,715,000 0
J| 1,400,000
= 315,000

01 X EHHA=LE L 1,715,000 1,715,000 0
OZ2sXJSAIER 1,715,000
J| 1,400,000
< 315,000




A &
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@ =5 (&
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
MY MEE X2 450,800 595,000 A 144,200
| 257,600
< 193,200
403 XIXISHHIS K20/ & 450,800 595,000 A 144,200
J| 257,600
< 193,200
01 HXESHMA=LE L 450,800 595,000 A 144,200
OMHIMEZXHA 450,800
| 257,600
< 193,200
HH RSHEEZH 360,000 360,000 0
| 240,000
< 120,000
403 MtXISHH S0l & 360,000 360,000 0
| 240,000
< 120,000
01 AXSHMA=2E X 360,000 360,000 0
OdHl =S dE X 360,000
J| 240,000
< 120,000
Sa20/22e N (RASH)(F) 21,883 21,883 0
J| 10,941
< 10,942
307 21201 A 21,883 21,883 0
| 10,941
= 10,942
02 It S AMHEL 21,883 21,883 0
OA0J|0I=H ONAS LA B A 21,883
| 10,941
< 10,942
Fds0lg el XA (XS ) (A=) 955,110 955,110 0
| 734,700
< 220,410
308 XXM S0 A 955,110 955,110
| 734,700
< 220,410
01 HIXNHHBMNEES 955,110 955,110 0
O D0 FZHHAIL (A ERS) 955,110
| 734,700
< 220,410
N=EEL FMES N 1,052,350 0 1,052,350
| 809,500
< 242,850
403 XSS AE201 & 1,052,350 0 1,052,350
| 809,500
< 242,850
— 9 —
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2AM: F4h
=

a4 B L
Ee: s ey ae| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
IISYHAAI L XS 191,000 276,000 A 85,000
403 XX SHS K20 & 191,000 276,000 A 85,000
01 XIS AS2E X 191,000 276,000 A 85,000
SN ASEANE KR 96,000
Os2AMH XMelAld X& 75,000
Ost2sIl UIHEL2ASAAE I 20,000
E=sE2sAE 209,050 195,000 14,050
308 XHXIEHSOlIA 209,050 195,000 14,050
01 AIXSHMEAMNEX= 209,050 195,000 14,050
SISsSSHel ALY 173,050
LISE BtHIIE CHtED] 36,000
MY LA HESE 2L A 16,599,852 16,360,689 239,163
= 14,326,691
= 2,273,161
308 XX SHHSOIH 16,599,852 16,360,689 239,163
= 14,326,691
o= 2,273,161
01 AIXSHMEMNEXZ 16,599,852 16,360,689 239,163
OJIse gAY 3,301,784
= 2,857,045
&< 444 739
OALrB24etEEEY| 584,500
2 350,700
= 233,800
ORI M HO| & ABHAI 2,430,720
= 2,025,600
& 405,120
OHXARDHEEXEZ XA 195,000
= 150,000
= 45,000
OFHMHE oges Al X 7,926,806
= 7,301,006
= 625,800
OXeE GPS &= Saldl X3 270,270
= 207,900
= 62,370
OJtaeta =l 19,500
= 15,000
& 4,500
ORME HLEE Als=Hl XS 1,144,975
= 880,750
& 264,225
OFHY BHAEE AEY A 25 H XS 297,297
= 228,690
& 68,607




N L1
My B4 AMY L3
& Jtsgg e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OJtasoitagzel 234,000
= 180,000
< 54,000
OFHMS, Al HESX A= 22| 195,000
= 130,000
< 65,000
AXHEENS 4,500,000 4,500,000 0
= 4,000,000
< 500,000
308 AHAIEHHSOIA 4,500,000 4,500,000 0
= 4,000,000
< 500,000
01 HIXNHHNBMNEES 4,500,000 4,500,000 0
OJ=EdgY Mz 243 N 4,500,000
= 4,000,000
< 500,000
Sointy o HY HAFH S U 379,160 379, 160 0
=2 293,200
< 85,960
403 MtXISHHE A0l & 379,160 379,160 0
= 293,200
< 85,960
01 AXSHMA=2EE 379,160 379,160 0
ONELAIEXE 43,500
= 35,000
< 8,500
ONsdy A=sFH X 19,500
= 15,000
< 4,500
OHBHEHASAIE 316,160
= 243,200
< 72,960
IIEAMEATN =R YA 24l X 1,678,200 1,576,000 102,200
J| 1,006,920
< 671,280
307 21201 A 1,678,200 1,576,000 102,200
J| 1,006,920
< 671,280
02 QAFAAFEX 1,678,200 1,576,000 102,200
OJ=EMdeARNd=S elAd XA 1,678,200
J| 1,006,920
< 671,280
SN 2 1,325,640 1,209, 541 116,099
J| 1,019,727
< 305,913
308 AHAIEHSOIA 1,325,640 1,209, 541 116,099




2AM: F4h
=

a4 B L
Sl JtEg e (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 1,019,727
& 305,913
01 AIKISHEMNEXZ 1,325,640 1,209, 541 116,099
O=2sg9ME 29 X& 1,325,640
J| 1,019,727
= 305,913
S==XNSSAE 2LH X 33,800 33,800 0
= 26,000
=} 7,800
403 XX SRS K 20| & 33,800 33,800 0
= 26,000
=} 7,800
01 AXESHIEE X 33,800 33,800 0
Os=2=28XN 2518 & 33,800
= 26,000
& 7,800
SHEM2AFAH (S4tH) 72,030 72,030 0
Jl23dl(S4) 72,030 72,030 0
Jl2ddl (S4) 72,030 72,030 0
201 et d| 34,020 34,020 0
01 AP 2t 2| bl 34,020 34,020 0
OALS 22l d] (0l AHE 2ZH 10%) 34,020
202 04| 34,020 34,020 0
01 2L I 34,020 34,020 0
OZ2WoHI (ol AHE2Z2E 10%) 34,020
203 €2 F=&d| 3,990 3,990 0
04 ENSIELRF=XH| 3,990 3,990 0
OBAN2IEA2=XH (0 AHE 2 5%) 3,990




